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1. A, B, and Care thee integers. Product of
A and 8 is a negative integer, product of
8 and C is a positive integer, and product
of Aand C is a negative integer. Which
one of the following options is true for
the above given condition?

{A) At negative inteper and B and Care positne
inteer

(1) Ais positive Integer and B and Care negatie
integer

(€} Al three are negative integer

{0) Both A and B are correct

(€} None of these

e S
2. A question contains two fractions. A and
8 are numerator and denominator of first
fraction . € and D are numerator and
denominator of second fraction. If A and
Care equal
and first fraction is greater than second
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fraction then?
() B s greater than

(8) B less than ©
(C) Both are cqual
(0] Data is insulficien

(£) None of these
SR Db

fing answer

i psind e
3. A decimal fraction s less thon 1 and
groater than 0. Find the number of 0 to
the right side of the decimal the fraction
can contain 7
(A) 1
(3
(€) Monc of the:
WLl s PR

® 2
(D) Infinite

‘2. Find the value of X", 1fb(20 +b) =0
%
1 ®) -1
(o x (0} 0

(©) None of these:




[image: image2.jpg]5. 10%of Xis dmore than 16%of Y. Represent

the given statement in  algebric
expression?
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(0) Both A and €

% 10°" 35
(E1 None of these

6. 1f three digits greatest number is added
to both side of the linear equation X - 5Y
+26 =12, where ¥ = 2X then?

A} Only value of x il be changed

8) Only value of y vall be changed

(€] Hoth the value of x and y will remain
unchanged

(0) Both the value of x and y will be changed

(€] None of these

7. 1na right angled triangle, height and base
cqual. If height is increased twice then
d the ratio of perimetre of the
increased triangle to the original triangle?
w 2:1

(8) (34517 +2)

) 1:2
©) y3:35
(£) None of these

811X = 2Y and 2= 3¥ then Z is what percent
ofx?
() 50% (8) 150%
(©) 75% (0) 125%

{f) Non of these

9. A man sells a bycycle for Rs X and carns
profit of 10% . If he had sold it for Rs 400
less, he would have incured loss of 10%
and if he had sold for Rs X+300, his profit
would have 25%. Find the cost price of
the bycycle?

(3) R2000
(C) Re2500
1) None of these

(8) Rs2200
(0) Rs 1800

10. A sum X becomes 4X in 2 year, when rate
of interest is Z % and interest is
compounded yearly. Find the value of 2 ?

(1421 (8] 20002
10} 100%

(A1 200,
ic) 2009
) None of these
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11, Which one of the following is not true

withan

(A] Either ends of a line s shos

(8) Line is 3 segment of a ray

(€} 12 hne 18 breaked from its middle, two
are formed

(D) Length of the fines and rays can niot |
measured

(6) None of these

2Y,Y=3Zand X, Y, and Z are angles
a triangle then X is an:

(3) Acute angle (8] Obtuse angle
(€) Right angle 0) zero angie
(€} None of th

13. Find the area of an cquilateral triang
whose base is diagonal of a square ar
area of the square is 4 cm??

(A) 23 cm* (8) 32 e’
(€) 2em? (D) 21 em?
(E)’ None of these

14.1n a cricket match, last ball to be throw,
and India requires 4 cuns to win the mate’
Find the probability of India to win th
match?

(8 1 ®)

1
(©

() None of these

0}

15.7 s

ivided by Q and quotient is divide

by 3 thus we get the number ‘; .Byho

many times P is greater than Q?
(8) 3 times (8) 5 mes
(€] 7 times (0} 11 times
() None of those

16.A and 8 represent the set of digits whic
is right and left to the decim:
respectively in a positive decimal fractio
and A contains 2 and 5 and B contains
and 2 then:

(A) Sum of place value of the digits containe
by B1s greater than that of A

(8) Sum of place value of the digits containe
by A greater than that of 1

() Sum of place value of the digits containe
byAs cqualto

(0} All o these

(€) None of these
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[image: image3.jpg]7. 5 s a fraction. Choose which one of the

following is incorrect?

(A) 1P i divided by A and Qs divided by B and
s 100% of B then value of the fraction
would not be changed

(8) 1FP1s divideed by Qand Qi ivided by P then
value of the fraction would not be changed

(€) 1P is divided by A and Qi divided by 8 and
s hall f 8 then vaiue of the fraction would
be chan

(©) Al of these

{F) None of these

18, X™x XM x X* = X277 then 3 =2
Ao (8) 13m
(€) 13n (b} 2m
(E) None of these

_JAE) None GANEER, b ot
19,117 1 divided by 2 the quotient i - of
5

the quotient when A is divided by 5. Find
the value of A?

() 16 ® ©

(c) 80 (0) 100

{€) None of these

20. Ratio of area of two right angled triangle
is a:1 . If both triangles have equal height
and base, find the ratio of their
hypotenuse.

(A) 24731
(o 2:1
(€) None of these

(8) 211
(0) 4:1

e e e
21. P is what percent of Q if Qs two times of

1

200 and p s equal to o of 2007
() 1% (8) 10%

i} 01% (0) 0.01%

(€) None of these

22. Which one of the following is not true?

(A} 1f sum of throe angles of 3 quadrilateral is
cqual to the sum of three angles of 3
parallelogram then fourth angle of a
quadrilateral s a right angle?

(8) Two triangles can be similar even if their
perimetres are not equal

(€) Permetres of two different equiangular
triangles con be different

1) A rectangle and 2 square might differ in the.
length of their sides but not in angle

F) None of these:

E‘ﬁﬂlﬂﬂllml

23.1f 40 persons consume 60k of rice in 15
days , in how many days will 30 persons
cansume 12 kg of rice?

(A) 4 days (8) 6days

(€) 8days (D) 10 days

(6) None of these
e
24. Solve 0.3x + 0.4 = 0.28x + 1.16

(8) 20 (8) 18

(€) (®) 38

{6) None of these

e

25. Find the value of the additive inverse of

i)

{ao0) |

(A) 001 (8) 1.1
(C) 099 (D) 100

(€) None of these

26. A car takes 22 minutes 0 go all around 3
cifcular park. If speed of the car is 60km/
hour, find the area of the park.

() 385 k' (B) 40kn
() 1km? (D) 185k’
(€) None of these

e e
27.Find the area of the shaded region. (use
.73)

() 21.37cm?

() B2en?
{D) 27.5¢em’

() 25em?
{€) None of these

28. A cone has been placed inside 3 cylinder

as shown in the figure. Find the remaining
volume of the cylinder?

) 115 e’
) 1EBem’

@
©
(F) None of thuse




[image: image4.jpg]29. Nine s added to thrice a whole number
gives 45. Find the number?
()9 () 12
(15 (©) 18
(£) None of these

e R A LIS

30. Find the area of unshaded portion.

N !
0 GF

(A 32m?
(€} 21.26em?
(6] one of these

(8) 19.43cm?
(0) 1836cm®

34. Atrain, 360 m long, is running at a speed
of askm/hour. What time will it take to)
cross a 140m long bridge?

() 405 (8) 205
(©) 305 (0) ass
(€} None of these

35. A cycle dealer sells a bycycle at 3 gain of
8% . If it had sold it for Rs 75 less , he.
would have lost 2% . Find the cost price

of the cycle?
(A) Rs800 (8) Rs700
(€) Rs750 (0) Rs650

(E) None of these

31.Find the difference between area of the
circle and rectangle given below?

(A) 32.5 em?.
(€) 3057em?
(€) None of these

(8) 363em?
(0) 285cm?

32. Find the arca of the figure given belo

/1 \
{a) 180cm? (8) 238cm?
(€) 252¢m? (D) 196cm?

(€) None of these.

33.The graph represents the population of
the city. Which city has minimum
population.

36. Four- fifth of a number is 4 more than
three- fourth of the number. The number
is:

(A) 50

© n

(€) None of these
st ooy RSN TR TP PIPGT

37.1f a decimal fraction is multiplied by X,
decimal is shifted three digit right in the
fraction. Find the value of X
(A) 1000 3

®) &
() 80

- The HCF of two numbers is 12 and also
their difference is 12. The numbers are
() (66,78) (®) (70,82)

(€) (94,105) () (84,96)

(E) None of these

39. Which one of the following is not correct?

(A} Al the decimal fractions are also a rational
number

(8) There are infinite rational numbers
between two natural numbers

(€) As we g left on the number line, value of
integers goes on decreasing

(D) Each whole number is also a rational number

(€) None of these

40.X, Y and Y, Z are the two pairs of adjacent

angles of a parallelogram . Then which

one of the following s not true?

h (A) X+2=2x (6) X+¥-2
18 e (€) X+20422360 (D) Xev=vaz
(E) None of these {E) None of these
REFROITIOBHN





